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QUESTION 1

You created a user and group using the WebLogic Server default authentication provider.
Where are these principals stored? (Choose the best answer.)

A. the WebLogic Server OPSS jps-config.xml security store

B. the WebLogic Server embedded LDAP server

C. the WebLogic Server embedded database security store

D. the default jazn-data.xml file-based security store

Correct Answer: B

Reference: https://docs.oracle.com/middleware/1213/wls/WLACH/pagehelp/
Securitysecurityauthenticatordefaultauthenticatorconfigproviderspecifictitle.html

QUESTION 2

We find the IMSRedelivered header set for a particular message on the receiver.

In which two scenarios is this expected to happen? (Choose two.)

A. The application has already received the message, but did not acknowledge it.

B. The session\\'s recover() method was called to restart the session beginning after the last acknowledged message.
C. The sender calls the redeliver() method for the message.

D. The sending application crashes after sending the message.

Correct Answer: AB

A: The JMSRedelivered property specifies a flag set when a message is redelivered because no
acknowledge was received. This flag is of interest to a receiving application.

If set, the flag indicates that IMS may have delivered the message previously because one of the following
is true:

*

The application has already received the message, but did not acknowledge it.

*

The session\\'s recover() method was called to restart the session beginning after the last acknowledged

message.
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Reference: http://docs.oracle.com/cd/E12840 01/wls/docs103/jms/fund.html

QUESTION 3

Your architecture requires that you create 100 JMS Queues with similar, though not necessarily identical, configuration
settings.

Which entity will help you carry out the task efficiently? (Choose the best answer.)
A. JMS Distributed Destination

B. JMS Foreign Server

C. JMS Template

D. JMS Destination Key

Correct Answer: C

Reference: https://docs.oracle.com/middleware/12212/wls/WLACH/pagehelp/
JMSjmsdestinationsjmsqueueredeliverytitle.html#attributes

QUESTION 4

My JMS file store size has grown very large and is using up a significant chunk of the disk. | need to reduce the file size
during the maintenance window without impacting any relevant information.

Which utility enables me to do this? (Choose the best answer.)

A. weblogic.store.Compacter

B. weblogic.store.Admin

C. weblogic.store.Reducer

D. weblogic.file.FileUtil

Correct Answer: B

To open the persistent store administration utility from a Java command line, type the following: > java
weblogic.store.Admin Here is an example of using the compact command to compact the space occupied by a file store

in the

mystores directory. > storeadmin->compact -dir c:\mystores -tempdir c:\tmp Reference:
https://docs.oracle.com/middleware/1212/wls/CNFGD/store.htm#CNFGD275

QUESTION 5

You are monitoring a WebLogic JDBC data source and have decided to drop some connections because an earlier
peak usage condition has now ended. In addition, this data source has not been enabled for automatic shrinking.
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What will occur once you execute the shrink() method on that JDBCDataSourceRuntimeMBean?

A. The number of connections in the pool will be reduced to the greater of either the current number of connections in
use or to the minCapacity property setting.

B. The number of connections in the pool will be reduced to the current number of connections in use regardless of the
minCapacity property setting.

C. The number of connections in the pool will be reduced to the minCapacity property setting regardless of the current
number of connections in use.

D. The number of unused connections in the pool will be reduced by half.

Correct Answer: A

When you shrink a data source, WebLogic Server reduces the number of connections in the pool to the greater of either
the initial capacity or the number of connections currently in use.

Reference: https://docs.oracle.com/cd/E13222_01/wls/docs92/jdbc_admin/manage.html#wp1048129
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